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Mathematics
Arithmetic: Paper 5 

total marks

40

Name

Date

Year 6 SATs Survival
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Key Stage 2: Arithmetic Paper 5

Total for 
this page

2

1 56 + 367 =

2      -      =

3 2 × 53 =

8
9

7
9
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Key Stage 2: Arithmetic Paper 5

Total for 
this page

3

4 497 × 1 =

5 110 ÷ 11 =

6 10 × 7 × 5 =
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Key Stage 2: Arithmetic Paper 5

Total for 
this page

4

7 5,046 - 413 =

8 82 - 10 =

9 77.77 + 4.4 =
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Key Stage 2: Arithmetic Paper 5

Total for 
this page

5

10 ? - 10 = 901

11 360 ÷ 4 =

12 5,600 ÷ 7 =
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Key Stage 2: Arithmetic Paper 5

Total for 
this page

6

13 88 ÷ 22 =

14 ? = 6,914 - 544

15 7,900,010 = ? + 900,000 + 10
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Key Stage 2: Arithmetic Paper 5

Total for 
this page

7

16 10 - 1.7 =

17     +     =

18 1 ÷ 1,000 =

2
9

17
36
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Key Stage 2: Arithmetic Paper 5

Total for 
this page

8

19     of 400 =

20 538 × 34

5 3 8
× 3 4

21 25% of 1,100 =

5
8
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Key Stage 2: Arithmetic Paper 5

Total for 
this page

9

22 703 ÷ 37 =

3 7 7 0 3

23 0.8 × 7 =

24      +     =1
2

1
9



©twinkl.co.uk. You may photocopy this page. 

Key Stage 2: Arithmetic Paper 5
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25     + 1     =

26 3 - 2.901 =

27 5.8 × 60 =

1
2

3
4
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Total for 
this page

11

28 1     -     =

29 9,145 × 57 =

9 1 4 5
× 5 7

30 95% of 420 =

1
3

5
12
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12

31      ÷ 3 =

32 4 × 8 - 52 =

33 1     × 10 =

1
3

3
4
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Total for 
this page

13

34 46% of 530 =

35 3     - 1     =

36 6,408 ÷ 89 = 

8 9 6 4 0 8

2
3

1
8


